SM2H - Unit 6 Circle Review Name

Identify a line or segment in Circle K that is described by each term:

1. Chord 4. tangent
2. Secant 5. radius
3. diameter (o

AC and BD  are diameters. Find the indicated measure

6. mDC 8. mBC
7. mBEC 9. mED

Find the value of the variable(s). Give a REASON.
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Name any congruent arcs or chords. State the REASON they are congruent.
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Write the standard equation of the circle with the given center and radius

26. Center (0,0); Radius 4 27. Center (5,—7); Radius 9

Give the radius and coordinates of the center of each circle. Graph the circle.

28. (x+3)2+(y—-1)%*=4 29. (x+ 1D)?*+ (y—6)2 =13 30. x2—8x+y%2=9
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Find the measure of the arc or central angle indicated. Asume lines that appear to be diameters are
actual diameters.
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Find the length of each arc. Round your answer to the nearest hundredth.
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Find the measure of the arc or angle indicated.
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Find the segment length indicated. Assume lines which appear to be tangent are tangent.
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Solve for x. Assume lines that appear to be tangent are tangent. Give a REASON for your equation.
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Determine if line AB is tangent to the circle. State a REASON.
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Find the value of x. Assume lines that appear to be tangent are tangent.
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Find the measure of the indicated arc or angle.
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Solve for x. State a Reason.
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State a Reason.
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FG is tangent to circle C

AD is a diameter of circle C

mED = 58°
mLBCD = 66°
mBD = mAE =
why? why?
mLBAD = mAB =
why? why?
mLAED = msCBF =
why? why?
mLDAE = ms2BCA =
why? why?
meLEDA = mes.CBA =
why? why?
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